
ELEC 225, Fall 2012 
Prof. Rich Kozick  

Homework 5 Answers  
Please be sure to clearly show your work in the solutions that you submit. Your approach 
is much more important than obtaining the correct numerical answer. 

Problem 3.50:  (c) Total current is 4 A.  (f) Total power is 64 W. 
 
Problem 3.51:  VTh = 4 V, RTh = 5.2 Ω  (be sure to show the polarity of the voltage 
source in your Thevenin equivalent circuit) 
 
Problem 3.52:  VTh = 4.22 V, RTh = 3.83 Ω   
 
Problem 3.53:  (b) RL = 3 Ω   
 
Problem 3.54:  3.6 A current through 6 Ω load resistor (be sure to indicate the current 
direction in your answer!) 
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